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Al 2-1/2-1

Multiple Choice

Identify the choice that best completes the statement or answers the question.

What is the solution of the equation?

—4=g+1
a. 4 b. 4 ¢c. -5 d. -3

w—2=-3

a —é b. 5 ¢c¢c -1 d 6
-5 b . .
2.8=2y

a. 14 b. % c. 2.8 d. 0.6

.
_9_4
a. 36 b. 13 c¢. — d. 36
_3,
=17
153 5 17 45
a =5 b gz e 5 4o

What is the solution of the equation?

16=-d+6
a. 10 b. =10 ¢. -9 d. -15

6
7)c—8—7

1 5 6 1
a. 172 b. 186 c. 127 d. —173

What is the solution of the equation?

=—5+z
-2
a. -1 b. 6 ¢c. 9 d 4
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Numeric Response
What is the solution of the equation?
9. 3r=5.1
What is the solution of the equation?

x+2
3

10. 6 =

11. 6x
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NUMERIC RESPONSE

9. r=1.7
10. x=16
11. x=1/9
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